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Skokie Lagoons -
North

Water depth contour interval: 1 ft.
= 5ft. Index Contour
—— 1ft Intermediate Contour
1 Depression Contour
Spot Depth (ft.)
Shoreline elevation Lagoon 6= 621.7 feet
Shoreline elevation Lagoon 7= 621.8 feet

Skokie Lagoons 1- 7 total size =242 acres
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Skokie Lagoon
Central

Water depth contour interval: 1 ft.

= 5ft. Index Contour
— Intermediate Contour
— Depression Contour
Spot Depth (ft.)
Shoreline elevation Lagoons 4 - 5 = 620.3 feet
Skokie Lagoons 1-7 total size = 242 acres




kokie Lagoons -
South

Water depth contour interval: 1 ft.
= 5ft. Index Contour
—— Intermediate Contour
— Depression Contour
Spot Depth (ft.)
Shoreline elevation Lagoons 1- 2 = 6189 feet
Shoreline elevation Lagoons 3= 620.3feet

Skokie Lagoons 1-7total size = 242 acres
250 500 750 1,000
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